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BHEERER FRERBAHRETS
% i B - IRk B B i & & =

BEIZE 25,772, 458
MEIEE 31,389,599 + 13,736, 042 45,125, 641
HBREE GH) 28,153,701 + 3,235,898 31,389, 599
H£BREE (RBL) 28, 153, 701
HBfREEE (FR) 27,124,042 x 11.93% ((6.07% x1.68 +1.50%) x 1.02) 3,235,898
R R 57,162,057 x 24.03% ((22.33% +1.00%) x 1.03) 13,736, 042
T=R{ 25,772,458 + 45,125, 641 70, 898, 099
—REEERE 70,898,009 x 17.84% (17.84% x 1.00) — 4,678 12, 643,542
ZHRIE 70,898,099 x 0.04% 28, 359
TH{fis 70,898,099 + 12,643 542 + 28,359 83, 570, 000
ERENER 8,860
HRE 8,860 x 91.2% — 6, 940 1,140
REFER 8,860 + 1,140 10, 000
EERE 1,772,000
BEEAGE 1,772,000
Z O IR 1,772,000 x 53.85% ( 36% + (1 — 35%) ) 954,222
KR 1,772,000 + 954,222 2,726,222
—REEES 2,726,222 x 53.85% ( 35% + (1 — 35% ) ) — 4, 202 1,463,778




AHERERER FRBSBNHEETE

% # SR - IR ik By | % B B & #® I
ARRER 2,726,222 + 1,463,778 4,190, 000
AREBER 10,000 + 4,190,000 4,200, 000
A& 83,570,000 + 4, 200, 000 81,770,000
HEREHELE 87,770,000 x 10.00% 8,777,000
BETHE 96, 547, 000




BHEERNRE FRBSBNHEETE
2 o 1B - R By ! B ¢ = =

EEIEE 25,772, 458
FREREAG 25,772, 458
HEGERBAG (J4) BET 24,538, 626
TAEXE (RERKRST) BET 24, 446, 166
TAEE (BRERAD) BE 24, 446, 166
1-1 T4 XK (REREST) HE - Eig 1.00 13, 454,174 13, 454,174

=
1-2 T4 XK (RERET) S - RE 1.00 10, 991, 992 10, 991, 992

=
JAEEREET 92, 460
T EHRME 92, 460
1-3 T4 BHREE 1.00 92, 460 92, 460

%
TGRSR (BLh) BET 1,183,703
ELEREEMERET 257,920
fE LB REHSHE 257,920
1-4 RTK-GPSPEHE 28 1.00 153, 320 153, 320

=
1-b T—4 ik - NEBEE 1.00 104, 600 104, 600

=
T VABET 28,210
PEIFE T3 28,210
1-6 72T VR FRE. ER IOy I/EEED 14.00 2,015 28,210

m




BHEENRE FRBKBNHEETSE
% 5 R - BRTE BAL = i % W E
FERARBREREET 321, 658
FEAXREBREHEE 321, 658
1-1 EERARBREE 5kVA 1.00 296, 732 296, 732
=®
1-8 #EEWEE L o o )—+ (B 0.40 54,250 21,700
m 3
1-9 BEMEGR L WLarvsyy—=r (EmH) 0.10 32,260 3,226
m 3
SASEET 43,172
ShAREE 37, 856
1-10 5L:A8#E H=bm 1.00 37, 856 37, 856
A
ShAREE 5,316
1-11 SLAREE za7eds CV2c-8sg  (L=10m) 1.00 5,316 5,316
2
ELRREHMET 436, 728
EERRERE 436, 728
1-12 B& 6.0mx2.0mx 2. 6m 1.00 261,074 261,074
=
1-13 #HEYEUERL E@Ea>oU—+ (Bf) 3.00 54, 250 162, 750
m 3
1-14 HBEWEIRL wLarsoy—+ (EH) 0.40 32, 260 12,904
m 3
HIG 4 B 96, 015
RIS HRAE MEWR 96, 015
1-15 RIGHFHE MEHK 1.00 96, 015 96, 015
=




BHEERNRE FRBSBNHEETE
2 o 1B - ks By ! B ff # =

FDith 50, 129
OB 33,104
OB 33,104
1-16 BEA S @ B~ B L) aVh— 3k (BR - ER) 4.00 2,909 11, 636

m 3
1-17 5%EHk avyy—rzk (B - ) 4.00 5,367 21, 468

m 3
N 17,025
EDVDEN 17,025
1-18 a>y )y— 3k B 3.00 4,500 13, 500

m 3
1-19 a>y y— k3% i3 1.00 3,525 3,525

m 3
HEREE L) 28, 153, 701
HBRH 28,153, 701
HERRE 28, 153, 701
i« ZLVRE 26, 584, 062
B 26, 584, 062
1-20 E#E (B HERAR) EEEN (kT &% 1.00 13, 292, 031 13, 292, 031

=
1-21 EME (B HERAR) EEEN (kT &% 1.00 13, 292, 031 13, 292, 031

=




BHEERNRE FRBSBNHEETE

% 5 R - BRTE BAL B = B ® # W E

BEBEAMILESE 1,351,584
REWERE - BF 1,351,584
1-22 {REL H=3. Om 156. 00 8, 664 1,351,584

m
1 218, 055
RERE 218, 055
1-23 RBFEE (RTER) HEEZBAG (ELR) BEIOERMRA L 1.00 26,170 26,170

=
1-24 RLERMK FEBREBAE (J4) BEIDBELEESD 1.00 191, 885 191, 885

%
EEAEE 1, 780, 860
EER-ES YN 1, 780, 860
FEGEZBAG (J4) BET 1,780, 860
TAHRAE 1, 780, 860
JABRAE 1, 780, 860
2-1 T4 RRAE 1.00 1, 780, 860 1, 780, 860
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Rz -ET/ Svr— FRBREANMETS
&5 1-1
&H : TAKKE (BBERAD) BE - Bl EEL)
% b 10 - BIRHE Bif B B * = S H =
EEEN Bk 48D 500tH GBL)
B 1.00 12, 894, 984. 00 12,894,984(11.00H / 13H
EUI(A3H/A)
A 1.00 44, 890. 00 44, 890
EZEAZE (13H/8)
A 5.00 37, 230. 00 186, 150
HERE 0%
% 2.50 13,126, 024. 00 328, 150
=) it YEZEREDN - 1.00K 13, 454, 174. 00 13,454,174
&5 :1-2
&8 TAAKE (BERAD) BE - KB 14y
2 ifr\ 1R - Ak iA Bify B B ff & = S w =
EEEN Bk %D 500tF (H&B)
=] 1.00 10, 585, 165. 00 10, 585, 165(6. 00H / 8H
VI
A 1.00 26, 880. 00 26, 880
EEAER
A 5.00 22,370.00 111, 850
HERE D%
% 2.50 10, 723, 895. 00 268, 097
=) g YE%8EH - 1.00K 10, 991, 992. 00 10, 991, 992
2.1-3
& TAEBRRHE EEL)
2 %fr\ 1R - AR HE Bif B B ff & & W = B =
ET
A 2.00 23, 630. 00 47, 260
EEFER
A 2.00 22,370.00 44,740
WA 2Dk
% 0.50 92, 000. 00 460
=) E YE¥8EH - 1.00K 92, 460. 00 92, 460




Kffi&- I/ \v7r—>

FRERBARETE

BE 14
& %5 : RTK-GPSPS E 125 1X5Y
% b R - K& By B = B O{f £ Hm E w =
BEXRERNE
A 1. 000 36, 230. 00 36, 230
EXBRERNE
A 2.000 24, 360. 00 48, 720
ET
A 1. 000 23, 630.00 23, 630
TEEXE
A 2.000 22, 370.00 44,740
& it 1EZ£BEA - 1. 00K 153, 320. 00 153, 320
&S 1-5
B T4 - NIBEE 1KLY
% L R - KT By B = B f £ wm E w =
BB EHNE
A 1.000 36, 230. 00 36, 230
ET
A 1.000 23, 630.00 23, 630
TEEXE
A 2.000 22,370.00 44, 740
& Bt 1EZEEAN - 1.00K 104, 600. 00 104, 600
&5 :1-6
&M 7z R FME. EEIJ oy I BEET 100my 1)
% L R - KT By B = B O(f i W E B %
HIHRIEXE
A 5. 650 24, 990. 00 141,193
TEEXE
A 0.750 22,370.00 16, 777
HEEE
A 1.350 27,930.00 317,705
HHE (F) LERZED %
% 3.000 195, 675. 00 5,870
& it {E2£8EH : 100. 00m 2,015.00 201, 545




Kffi&- I/ \v7r—>

FRERBARETE

&5 1-7
& FERRBRER SkVA 1ty
% b R - K& BAGT B = i £ Hm E w =
ET
A 4.500 23, 630.00 106, 335
B
A 3.000 25, 830.00 717,490
BETL
A 1.500 24,150.00 36, 225
TEEXE
A 1.250 22,370.00 27,962
EXEERME
A 2.000 24, 360. 00 48,720
& it {YE%8ERH : 1.00=X 296, 732.00 296, 732
&5 1-8
&% EEPEEL E#EaroU—F (AR Tm3LY
% L R - K& BfT B = i £ wm E w =
BHAIFEED B AAEL FI#HE 8K
m3 1. 000 54, 250. 00 54, 250
& b YE%£8EH : 1.00m 3 54, 250. 00 54, 250
5:1-9
2% EEEEL Larsy— b+ (ER) Tm3LY
% L R - KT BARL B = fii i W E B %
BEEED R ANEI HI#E 8k
m3 1. 000 32, 260. 00 32, 260
& E 1EZ%BEH : 1.00m 3 32, 260. 00 32, 260
H#E :1-10
&7 5LAREE H5m 1A%y
% [ A - KA BAGL #H = fii 5 W E B %
ZEERE (AR 400k gkif
= 1.000 37, 856. 00 37, 856
& it 1EZEEA - 1.00K 37, 856. 00 37, 856




Kffi&- I/ \v7r—>

FRERBARETE

&5 1-11
& BLARREE R CV2c-8sq  (L=10m) 1ZMERY
% b R - K& By = fili £ Hm E w =
EI
A 0.225 23, 630.00 5,316
=1 5 YEZHERN 1. 0072 5,316.00 5,316
H5 :1-12
2% : BE 6.0mx2.0mx2. 6m 1X4Y
% L R - KT By £ i £ wm E w =
HEE®
A 2.000 217, 930. 00 55, 860
TEEXE
A 6.000 22, 370.00 134, 220
EI
A 2.000 23, 630. 00 47, 260
HHE (F)
% 10. 000 2317, 340. 00 23,734
& it 1EE8EA - 1.00K 261,074.00 261,074
= :1-13
&% BEYiuREL ERa o U—+ (Bf) Tm3%Y
% L R - KT By = il i W E B %
BHAFEEY B AABEI HIFE 8K
m3 1. 000 54, 250. 00 54, 250
& E 1YEZ£BEH : 1.00m 3 54, 250. 00 54, 250
=5 :1-14
&% EEYEIEL BLavoy—+ (EH) Tm3YY
% b R - KT By = i ] W E B %
BB ED B AAEI $HIFE 8K
m 3 1. 000 32, 260. 00 32, 260
& E 1EZ%BEH : 1.00m 3 32, 260. 00 32, 260




Kffi&- I/ \v7r—>

FRERBARETE

&S :1-15
%ﬁ‘ : ﬁ%%iﬁ:ﬁm& 1.‘?—t% LJ
% [ B - KSR B = B @ ] W E 5 &
HH®REXE
A 1. 000 24, 990. 00 24,990
TEHERRE [/n-58 -7 07" K] 2.5t%E
H 1. 000 32,334.00 32,334
by V-V E ] N -AbyhA~4 5tFE FmEESH2. 9t
H 1. 000 38, 691.00 38, 691
& it 1EZ£BEA - 1. 00K 96, 015.00 96, 015
&S 1-16
B BANER CEM~IEIL) 2>y )— ik (B - £5) TIm3HY
% [ B - BIKSHE Bif % B B @ ] HE B &
XN F1E W GEHE~EUE L) avoyy— sk (B - 85
m3 1.000 2,909 2,909
& it YE%8EH : 1.00m 3 2,909 2,909
5 :1-17
A RER oo )— kR (B - B TIm3HY
% [ R - K& B4 B = B (@ ] W E E %
IE K avoy— sk (B - EH)
m3 1.000 5, 367 5, 367
& B 1YEZ£BEH : 1.00m 3 5, 367 5, 367
= :1-18
&M a9 )— 5 AF 100m3 &Y
4 [ g - K& B4 B = B {f ] = w *
nn#&
m3 100. 000 4,500.00 450, 000
= B 1EZ£8EA : 100.00m 3 4,500.00 450, 000




Rz -ET/ Svr— FRBREANMETS
&5 :1-19
& aVoY— N B 100m 34y
2 #fr\ B - IR B % B B & %= w = B =
WHE
m3 100. 000 3,525.00 352, 500
= H {E%8EH - 100.00m 3 3,525.00 352, 500
5 :1-20
2% EMZ (BHERAS) REEN (BNEE) &8 1EHY
2 #fr\ 1R - Ak iA Bify u B B ff & %@ w = w =
BEE
= 1.00 1, 350, 000. 00 1, 350, 000
BERE
= 1.00 1,085, 713.00 1,085, 713
B
= 1.00 10, 140, 000. 00 10, 140, 000
R
= 1.00 716, 318.00 716, 318
=) it fEZgED - 1.00= 13,292, 031.00 13,292, 031
&5 1-21
2% EME (EHEMAS) RERN (BHEE) E5% 1EHY
2 ffr\ 1R - Bk HE Bify % & B ff & & w = m =
BEE
= 1.00 1, 350, 000. 00 1, 350, 000
EERE
= 1.00 1, 085, 713. 00 1,085, 713
B
= 1.00 10, 140, 000. 00 10, 140, 000
SRR
= 1.00 716, 318. 00 716, 318
=) it YEZERED - 1.00[E 13,292, 031.00 13,292, 031




Rz -ET/ Svr— FRBREANMETS
&5 :1-22
L RELY H=3.0m 10m&Y
% m B - IR Bif B B # w = H =
HEER
A 0.490 27, 930. 00 13, 685
EEAER
A 2.449 22,370.00 54, 784
REAL 1 OmE Y [REEHIBE E&ETHITARX H=3. Om
#®EE 55. 000 206. 00 11, 330
HEE (R) FHEED%
% 10. 000 68, 469. 00 6, 846
=) it {E%8EH : 10.00m 8, 664. 00 86, 645
&5 :1-23
2% EFEE (RREE) FEESENH (ELR) #METOZMMRALE EEL)
2 m 1R - oAk iE Bify B B # w = w =
RBEFEEREB
A 2.00 13, 020. 00 26, 040
HHH D%
% 0.50 26, 040. 00 130
=) g YE%8EH - 1.00K 26, 170. 00 26,170
5 :1-24
L RLEHEM FEESERN (J4) BETOREELD e
2 m 1R - AR HE Bify B B ff # w = " =
ZEEWRMR FRP D 180PS%H!
H 1.00 190, 931. 00 190, 931/11.00H / 13H
HHH 2Dk
% 0.50 190, 931. 00 954
=) E YE¥8EH - 1.00K 191, 885. 00 191, 885




RETR-FET/ Swr— FRESBIHEETE

&5 :2-1
2% TABERAE
% f] R - BIKTE BAf #H = LI i ® B E I

EE2THEHD)

A 2.00 62, 200. 00 124, 400
AR (A)

A 20.00 55, 200. 00 1,104, 000
HEm (B)

A 12.00 45, 300. 00 543, 600
AR 2ED%

% 0.50 1,772, 000. 00 8, 860
& g {YE%8ERH : 1.00=X 1, 780, 860. 00 1, 780, 860




B &

BfRES : 1-1

ik 4% - EEHM (EMER) 8D 500t/ (BL)

FRERBARETE

1B&Y 11.00H / 13H

£ [ B - KTk BT #H = B O & # HE 5 %
EihA
L 6, 269. 00 109. 00 683, 321
MEE
A 2.73 28, 560. 00 17,968|8=2.13
BkmE
A 19. 11 28, 560. 00 545,781/ 8=2.73
LTEmE
A 13. 65 23, 730. 00 323,914/ B=2.73
B (BmEEHRER - T —EL D 500t
=®1) R 11.00 320, 000. 00 3, 520, 000 B ER AT
B (BmEEERER - T —EL D 500t
®1) =] 3.20 2,420, 000. 00 7,744,000| o=3. 20 #HEB
& it 12,894, 984
Bif&REFS : 1-2
Bz  EEHM (EMER) 0D 500tHR (BEH) 1H%Y 6.00H / 8H
£ bz B - KR BRL H B B £ # = B %
FihA
L 1, 604. 00 109. 00 174, 836
MEE
A 2.15 28, 560. 00 61,404/ B=2.15
EHRme
A 15.05 28, 560. 00 429, 828| B=2.15
TEmE
A 10. 75 23, 730. 00 255,097/ B=2.15
#E*—l (BfEE#m k- 71— D 500t
Rl 6. 00 320, 000. 00 1,920, 000 EERRERE
#E*—l (BfEE#m k- 71— D 500t
=®1) =] 3.20 2, 420, 000. 00 7,744,000| a=3. 20 #RA
& it 10, 585, 165




H{fizx HEERBAEHEETSE
BERES - 1-3
BERAH  FEMEREI-R -5 V7 K] 2.5tH 1BLY
3 7 1B - IR E) y = E i S % =
BT (%)
A 1. 000 22, 890. 00 22,890
2377
L 8.000 143. 00 1,144
BH (FRHEWE (VO—SHAES. |AREE2. 5t
7 =] 1. 660 5, 000. 00 8, 300
& & 32,334
BHM|XES . 14
BMERLW : MyIIb-VEEM] A -AMv94~4. 5t HBEEH2. 9t 1BHY
2 b 1B - AR E) 8 = E i S % =
BT ()
A 1.000 22, 890. 00 22,890
Fz3
L 31.000 143. 00 4, 433
BH (FS5vb5 [HL—UBBM]) R—ZXF 5954tk mEEH2. Ot
=] 1. 490 7, 630. 00 11, 368
=) it 38, 691
BHMXES : 1-5
BMERLW . TEEEM FRP D 180PSE! 1B%Y 11.00H / 13H
2 L 1B - AR Bf 8 = B i T % =
E)
L 67.00 109. 00 7,303
ERME
A 2.13 28, 560. 00 77,968| 3=2.73
EEME
A 2.13 23, 730. 00 64,782 B=2.13
B (&M FRPE]) D 180PSZE! 10. 0GT
=] 1.00 9, 390. 00 9, 390 EELH
B (@M FRPE]) D 180PSZE! 10. 0GT
=] 3.20 9, 840. 00 31,488| @=3. 20 #HEAR
& it 190, 931






